AP Physics – Electric Test
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(60)  Figure out the following for the circuit shown:  (a)  The total resistance, (b)  the total current, (c) the power dissipated by the 1.80 ( resistor.
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2. (20)  1.45 x 1017 electrons take 0.700 seconds to flow past a point in the circuit.  What is the current?
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3. (60) A color tv has an internal resistance of 5.4 (.  It operates on 120 V household AC electricity.  (a)  How much current does it draw?  (b) How much power does it develop?   (c) If it operates for 8.0 hours, how much does it cost to run the thing if a kWh costs 5.5 cents?
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4. (20) Two identical spheres that have a mass of 45.0 g hang from light thread as shown.  Each of the spheres has the same electric charge, 25.0 (C.  The strings are 25.0 cm in length.  Find the angle (.
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(60) Two charges are arranged as shown.  (a)  Find the electric potential at point P.  (b)  Find the magnitude and direction of the electric field at point P.  (c)  How much work is done bringing a charge of 5.00 (C from infinity to point P?
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